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Part i {60 Marks}

For each question from 1 to 30, four options are given, One of them is the comect
answer, Make your choice (1, 2, 3 or 4). Shade the correct oval (1,2,3 or 4} on the

Optical Answer Shaet,
- 1. The table below shows the processes that ocour m sexual reproduction of -
flowering plants.
Germination - | Fertilisation Pollination Beed dispersal’
P Q R S

Which one of the following is the correct sequence for sexual reproduction of
a flowering plant?

P — s ——> R 5 8§
)P 3 § —————> Q> R
3 ——>P—>R— 5 Q
4s ———m—sp——>QQ——-—> R

2. The diagrams below show the human repreductive systems X and Y.

Which of the following statements about the systems is correct?

(1) Fertilisation occurs in part A.

(2) Part B produces sex cells monthly.

(3} Fertilisation occurs inside the body of System Y.

(4) The gex cells produced by System X are different in structure from those
prodiiced by system Y.

-------------------------------------------------------------------------
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The diagrams below show the cross-sections of two different flowers. Sue
had removed the filaments of flower B.

Flower A Flower B

Which of the following statement(s) is/are true?

A Both flowers can develop intofruits. .

B: Only Flower B wiil develop into a fruit,

C: Pollination can only take place in Flower B,

D: Pollination can take place in both Flower A and Flower B.

{hAand C @)BandC
3)Band D GAandD



Rosyth School! Centinuat Assessmentf Science/ P6/2015

4. The diagram below shows a change of a leaf on a plant after a period of time.

The change on the leaf was caused by a-buiterfly in one of its stages in its life
cycle.
Which stage was the butterfly in at this point in time?

(1) egg (2) larva
(3} pupa (4) adult

------------------------------------------------------------

5. The graph below shows the temperature change in a forest from January to
December, '

Temperature {2C)
- A

a0+
35 -}

30
25 -~
20~
S B e e e e A s 2l L
Jan Feb Mar Apr May Jun July Aug Sep Oct Nov Dec

Insect Flives in the forest. It needs a temperature between 30 °C and 34 °C-{or
at least a month to-develop from an egp into an adult.
Which of the following months are suitable for the insect to bresd?

(1) February to-April- (2) Apritto June
(3} July to September (4) Octoberto Decémber

-------------------------------------------------------------------------
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6. Figure 1 shows ":if.léaif on a plant used in a photosynthesis experiment. At the
start of the experiment, there was no starch on the leaf.

white area

green area

Figure 1

Next, the leaf was partly covered by black paper, as shown in Figure 2.

hiack paper

Figure 2

The plant was then put in the sun. After a few hours, the leaf was plucked off
and the black paper was removed. The leaf was tested for starch. In which
area(s} labelled P, Q, R, and $ is starch most likely found?

(1) P only (2) Q only
@) P and @ only (4) Rand S only



.........................................................................
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7. Ben conducted an experiment on photosynthesis, He left 3 similar pots of plants
in a dark room for 4 days. The plants were watered daily. He then put the pots
of plants in the 3 set-ups J, K and L as shown below. Fach set-up contained a
solution with different functions.

Setup J Set-up K Set-up L

solufion X solutiori B solution C

Ben then put the set-ups outdoors for 2 days. He conducted & starch test on
the leaf from each set-up and the results were shown in the table below,

Leaf from sek-up J
Coaf from SeEUpK
Leaf from setup'l.

Todine tamad dak Blde

Which one of the following was most likely to be the functions of solutions A, B

and C?
Solution A Sojution B Solutmn C
(t) | absorbs oxygen produces carbon dioxide b
(2} { absorbs water vapour absorbs oxygen 1P
"""" (3) ' | dbsorbs carbon dioxdde * | absorbs waler vagour | ab:
(4) {produces carbon dioxide | absotbs water vapour

-------------------------------------------------------------------------
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8. Study the water cycle below.

A / Clouds ~._ D

- - -

Rain Water vopour

\\ Source of water /

8 {river, sea and lake) c

At which point in the water cycle will the surrounding air gain heat for a change of

state {o take place?
(hA {2)B
{3)C 4D

9. Amy conducted an experiment in the ecsence room and recorded the results as
shown in the i . fe.
i e TR

B 80 B 67 53
G g0 3 a3 75

What was the s ef her expenment?

1) Te ﬁnd outif the presence of wmd affects rate of evaporation.
{2) To: find-out if temperature of water affects the rate of evaporation.
(3) To find oot if the time taken for evaporation affects temperature of watet.

{4) To find out if the amount of exposed surface area affects the rate of
evaporation.-



.........................................................................
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10.  When Bei Bel sprayed some water on her hand, she felt a cool sensatiotrat the
spot where it was sprayed.

Which of the following statement(s) is/are true about the changes involved after
water was sprayed on her hand?

A: The skin loses heat. -
B: The skin gains heat.

C:The water loses heat.
D: The water gains heat.

(1) Aonly (2) A and D only
{3) Band C only (4) B and D only

1. Which of the following statements about energy are true?

~ A: Energy is needed to exert a force,
B: All sources of energy are renewable.
C: Energy is needed to enable us to do work.

{1) A and B only (2} A and C only
{3y BandConly WA BandC

12. Ravi made a toy as shown below. When he turned the plastic roller, the toy
would move forward on the floor.

ice-craam sticks

.................................................................

rubber band
What should Ravi do if he wanted the foy to travel a further distance?
. (1) Use a shorter ice-cream stick.
(2) Use a thicker ice-cream stick.

(3) Increase-thersize-of-the-match-box.
{4) increase the number of turms on the plastic rolier.

------------------------------------------------------------------------
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14.
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The diagram below shows different energy conversions.

P Q
Light energy — > FElectricalenergy — 5 Kinetic energy

Which one of the. following devices shows both energy conversions P and Q-
when inuse? T ' '

(1) a battery-powered torchiight {2} a wotind-up toy robot
(3) a battery-powered toy car {4} a solar-powered toy car

Study the pathway of a bal as shown below.

e
- -
e aau A £ S
-
o

round . 8
g \\ ; Z

Which of the following statements about the ball are true?

{A) The kinetic energy is the lowest at. Pasnt X.

(B) The'kinetic energy is the highest at Point Z.

(C) The potential energy is the highest at Point X.

(D) The ball has both potential and kinetic enrergy atpoint Y.

()AandDonly (2) B and C.only
(3) A, Baand D only. @A B CandD



Rosyth School/ Continual Assessment 1/ Science/ PG/2015

15.  Four objects, P, Q, R and S are hung on a pole above the ground. Strings of
different lengths have been used to suspend these objects. The masses of

these objects are shown below

" 10kg

kg ﬁ Q - 3kg

P s
M 10k
R

/ gre und

NV AN N O N NN NN

Which object possess the most polential energy?

1P : @) Q
(IR (4yS

-------------------------------------------------------------------------
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16,  Kumarwas playlng with a slingshot- when he discovered that there is a

relationship between the {ength of the elastic band that was stretched and the
distance moved by the marble.

tength of distance moved
- steetched band . “by thie marble

3

-------------------------------------

 Length of stretched rubber band(cm) | Distance moved by the matble(cm)
15 ' 25
10 18
19 30,
8 14

Which one of the following would most probably describe the relationship
hetween the length of the elastic band that was stretched and the
distance moved by the marble?

(1) The distance moved by the marble is not affected by the length of the
stretched rubber band.

(2) The shorter the Jength of the streiched rubber band, the greater the distance
moved by the marble.

(3) The distance moved by the marble is always half the length of the
siretched rubber band.

(4) The shorfer the length of the stretched rubber band, the lesser the distance
moved by the marble,

10

a
------------------------------------------------------------------------



17.

18,
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What is the disadvantage of using a wind turbine?

(1) Wind Is non-renewable,

(2) it reduces the earih's natural resources.

{3} 1t cannot produce electrical energy at night.

{4) 1t does not produce the same amount of electrical energy all the fime,

Which one of the [following shows the correci energy conversion when a
television is swilched on?”

(1) electrical —> sound  + light + heat
energy energy energy engigy
{2) electrical —~——>sound + heat + kinetic

energy energy energy energy
(3) potential ———— kinelic -+ heat + light
energy energy energy energy

(4) potentlal ——>kinetic + heat + sound
energy energy ensrgy energy

Which one of the following is a source of energy for a wound-up toy car?

{(iyspring {2) compressed spiing
{3) toy car (4) key

11
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20.  Aballaf Wwas pushed downwaids towards X. It rolls off X and fands on Y and
continued rolling until it stopped at Z.

Which of the following stalements are frue based on the above situation?

A: The ball has the most kinelic energy at Y.

B: The ball has fhe most potential energy at W,

C: Kinetic energy-of the ballincreases from Y to Z.

D: Potential energy of the ball decreases from Xto Y.

(1) A and B oniy {2) B and D only
(3} A, Band D only (4) B, C and D only

12

.
------------------------------------------------------------------------
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Which of the following isfare the resuli(s) of a pulling force?

A B

N

N N N
N AR e
L_E_Bf MagnetA

C "D  Before - < After -
(1) A only {(2) B and C only
(3) B, C and D only (4) A, B, C and D

The diagram below shows a toy car on a flat surface. The direction of the toy
cars movement depends on the amount of forces, K and L.

Forcel
[ SU—

Which of the following are tﬁe.ﬁorrect reasons for the car’s possible movements?

, Movement ' Explanation

A | The car moves towards X -~ | Force K is greater than Force L

B | The car moves towaids Y Force L is smaller than Force K
C | The car does not move Force L is equal to Force K
()-Aand-Bonly- - ) A-and-Conly
(3) B and C only @A BandC

13
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Please refer below for questions 23 and 24,

Peter carrled out an experiment using the set-up as shown below. He placed the
magnet above a thin plece of wood. He then observed some thumbtacks
aftaching themselves on the underside of the wood.

OO S

retort ...
stand
—— magnet
E:@ : —— Thin plece
' of wood
Thumb tacks

Which one of the following isfare the most likely explanation(s) for his
observation?

A: Magnetic force can act at a distance.

B: The frictional force between the piece of wood and thumbtacks
pravents the thumbtacks from droppmg

C: The magnetic force of atfraction is ab!e to pass thwugh me
plece of wood.

D: The magnetic force of aftraction is strong enovgh to overcome the force
of gravity acting on the thumbtacks.

(1) G only @) Aand C only
(3} A, Cand D only YA, B, CandD

14
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24.  Peter carded out another experiment using.the set-up on page 14, He increased
the thickness of the wood each time and counted the number of thumbtacks
attached 1o the wood. He then recorded the resulis in a table as shown below.

Thickness of Distance of Number of
- wood/ecm | magnetand the | “thumbtacks -
“woodicm attached
1 5 4
2 5 3
3 5 4
4 5 H

Which one of the following isfare possible conclusion(s) for his experiment?

A: The thicker the wood, the less the magnetic force of attraction can
pass through

B; The thicker the wobd, the fewer thumbtacks are attached to the
wood

C: The thicker the wood, the distance of magnet and the wood remain

the same.
(1) A only (2} A and B only
(3) B and C only 4 A,BandC

15



Rosyth School/ Continual Assessmentif Sciencef P6/2013

25.  Study the experiment shown below carefully.

wooden cart

Material H

metal ball
{300 g}

-------------------------------------------------------------------------

A metal ball was attached to a waoden cart as shown above. The time
the wooden cart took fo reach Q from P was recorded. The
experiment was repeated using different matérials, H, [, Jand K

respectively on which the wooden cart moved across. The resuits were
recorded as showsn below.

~ Which one.of the following is the best materia! for a ramp which can make
it easier for people to push heavy boxes up to their vehicles?

© (1) Material H (2) Material i
(3) Material J {(4) Material K

16

-------------------------------------------------------------------------
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Two identical wooden blocks are placed on surfaces X and Y as shown in the
diagram below.

pulling force
s

(0

pulling force
B ——

i

Surface X o . . Sarface Y

A pulling force is applied on lwo identical springs, A and B, attached to two |
identical blocks. When the wooden blocks were pulled along the surfaces, Spring
A stretched twice as much as Spring B.

.Which of the following statements about the above experiment are true?

A: Surface X is rougher than Surface Y.

B: Surface X is smoother than Surface Y.

C: The puilling force on Surface X is greater than the pulling force on Surface Y.
b: The frictional force on Surface Y is greater than-on Surface X.

(1) A and C only B

{2} A and D only

{3) B and C only
(4) B and D only

17
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27.  An experiment was conducted using the set-up as shown below.

u“ Magnet

10em | A
; 7 ; ron nalls

The experiment was repeated by placing the same magnet af different heights, A,
B, C and D and the distance of each magnet from the iron nails is shown in the

fablebelow. . ...
Height | Distance of magnet from the iron nails (cm)
A I 10
B 20
Cc 16
~— —

Based on the table above, which one of the graphs below is most fikely correct?

Number of Number of

iron nails iron nails 6

attracted attracted 4

2

............................ S I .

Numhe_rof Humber of

froni naits 6 o iron nails &

attraced 4+ A M- attracted 4

2 2

0 0

18

------------------------------------------------------------------------
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28.  The graph below shows how the length of two springs M and N changed when
different welghts were htnigon.

Length of 4 "
the spring
(em) N )
» Weight hung oh
the spring {g)

Based on the graph above, which of the statements are correct?

A: The original length of the springs is the same.
B: The extension of both springs is the same for the same weight hung.
C: The original length of spring M is less than the original fength of spring N.

B The elastic spring force on spring M is greater than that on spring N when the
saime weight is hung after point P,

(1)-A and B only
(2)Band C only
(3) B and D only
{4} C and D only

i9
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29.  Two identical objects, X and Y, are hung onto fwo different springs, P and Q,
which have the same original fength.

Spting P Spring Q

After some observations, Lynn wrote down four statements in her notebook,
A: Spring Q is overstrefched.

B: Spring P is less strétchable than Q.

C: Object X has less mass than Object Y.

D: Spring Q has a longer extension than Spring P.

Which of the above statemetits made by Lynn is/are correct?

(1) A only (2YBonly
{3) A and C only {4) B and § only

D

30.  The diagram below shows three objects.

soap bubhies ship aeroplane

On which oblect(s) is/are the force of gravity acting on?

(1) ship only

{2) ship and aeroplane only

(3) soap bubbles and aeroptane only
(4) soap-bubbles, ship and-asroplane

Elid of Booklet A

20

------------------------------------------------------------------------
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Part 1 (40 Marks)

For questions 31 10 44, write your answers in the space provided.

31.  The diagrams below show the growih of plants A and B over three years.

— diraction of water flow in river

| AN Plaﬁiﬁi- . PlantB ﬁi

Year 2010 Year 2013
(a) Based on {he diagrams, identify the methods of dispersal of planis A and
B, (2m}
Plant A
-Plant B:

. .{b) State one.characteristic. of the. fruits of plants A.and B.each basedonthe. . . . ... . ...
dispersal methods above. {2m)

Fruits of plant A

Fruits of plant B:

-------------------------------------------------------------------------
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32. Study the diagram below carefuily,

e . T sperm
— (?jﬂ/ ’
' egd

(a) What process in human reproduction is shown in the diagram above?
(1m)

{b) State the function of the sperm. (1m)

{c} Explain how the sperm is able to carry out its function, (1m)




.........................................................................
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33.  The diagram below shows the fife_ cycle of a mosquito.

(@}  In the diagram above, at which number would fertilisation ocour? (1m)

(b)  Thelarva and the pupa breathe through breathing tubes as shown in the diagram
below.

breathing
tubes

pupa

larva

Explain how the spraying of oil on the water surface will help to kill them.. (1 )

------------------------------------------------------------------------

--------------------------------------------------------------------------



........................................................................

Rosyth Schoolf Continual Assessmentl/ Science/ PO/ 2015
34. Mei Ling wanted to find ouf how the intensify of light affects the rate of

photosynthesis of hydrilla plants. She used the set-up as shown below and
placed a bright tight sotirce a distance away.

-

~

. 'qwtesbtuba light source

]t /
hydrilta LG A | D:J _
o < ¢ 15, Wl baaker
............................ e+ e xex Q'"'.'.‘/: R : -‘-—-3. e s

distance from light source

water—

After 20 minutes, she counted the number of bubbles produced by the
hydrilla. She repeated the procedure four more fimes by increasing the
distance between the fight source and fhe baaker each fime.

She recorded her observations in the table each lime a8 shows below.

Distance of light source from beaker (crm) | Number of bubbloes prodtced per minute.
10 A8
20 18
30 . 13
40 | At

{a) Identify the gas produced in the funnel. (1m})

(b) What can Mei Ling conclude from the resalts of her experiment? {(1m)

(c) Melling tepeatetl the Same eXperlment but this time with some fubifex
. worms placed in the funne! with the hydrilla. She observed that the number of

hubbles: produced by the hydrilla per minute increased, Give the main reason
forthis: (1m)
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35.  The diagram below shows a roller coaster at a theme park. Joshua and his
friend were in a car at the top of the track at point J. Atthe start of the ride, their
car was pulled along the track before it was released at point J. The car then
starfed fo travel along the track hefore it finally stowed down to a sfop af point L.

cay,

gint J

Point K

. track

(a) At which point is the potential energy the greatest? Explain your answer,
{1m) '

{b) Why was the car able to stow down and come to a stop at the end of the ride
without the application of brakes? {1m})
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36. The diagram below shiows a hydroeleciric power station.

reservoir ) power fines
PR powe thouse

generator

U

pi\e m\rbine \\mer

{a) State the -energﬁv conversion that takes place when elecirical energy is
generated in a hydroelectric power station. (1)

potential B _
energy : ] > —

pipe turbine generator

(b) What is the reason for building the reservoir at a higher level than the
turbine? (1m}

-------------------------------------------------------------------------
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37. Ah Seng released a pendufuni bob from position A and its movement is shown
in the diagram below.

s L

ground

'A'\ O/"' 'C

(&1} At which pasition (A, B or C} does the pendulum bob have the greatest
amount of kinetic energy? (1m)

(b) After a while, the pendulum bob was observed to swing to posifion C at &

height fower than its helght release at position’A. Glve a reason for this,
(1m}

Question 37 is continued on page 8
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(o) Diaw atine graph o show ihe change in potential energy as the
penduium bob moves from position A to position C. (1m)

Amount of _A o ) -
potential . '
energy - ' '
:
7 :
1
¥ )
¥
: :
i
¥
! :
A B C

Position of pendulum bob

--------------------------------------------------
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Si Xin set up an experiment as shown below.

tin of water

supporting arm

(a) Si Xin observed that the water wheel turned when water dripped from the
tin. Explain how this happened.{1m)

Using the’same set-up, Si Xin poured different amounts of water into the
. tin and recorded her observations in the table below.,

pumber

Amount of water(imi) ____$peed of turns per second
50 , 8
100 _ .. 8
200 : 8

{b) Why did the number of turns rernain the same even though the amount
of water was changed? (1m)

{c} Suggest two ways to make the water whee! tumn faster. (2m)




Rosyth School/ Continual Assessmentl/ Science/ P61 2015

39, Jim prepared two similar slopes of the same size and material, W and X, as
shown in the diagram below. He wanted fo find out if oil will reduce friction.

Slope W Slope X

(@)  Which slope is the control set-up? (1m)

{(b)  Why is there a need to have a control set up? (1m)

{c) What observation would Jim make in the above experment? (1m)

------------------------------------------------------------------------

10

------------------------------------------------------------------------
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40.  Study the diagram below.

Posiion W

basketball

Wall

=

When Ethan threw a basketball from position W against the wall, it hit the wall at
position X and bounced off and landed on the floor af position Y. it then rolled
along the floor and finally stopped at position Z.

{8}  Whatwas the force acting on the basketball as it moved from position X to Y7
{(1m)

(b)  Mark an ‘A' on the floor in the above diagram to show where the ball might land if
Ethan had thrown the ball with a greater force from position W. (1m}

11
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41, The diagram below shows an emply aluminium can before and after it was
crushed. '

Before

..... {a). . What farce is exerted. on. the can fo.cause the change?
Put a tick in the correct box. (1m)

Pul [ Push

(b}  Name the effect of the force due to the force exerted on the can. (1m)

----------------------------

12

-----------
--------------------------------------------------------------
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42.  The diagram below shows a box resting on a wooden plank.

Direction in which
Jerry is pulling

T wooden olank

(a) Jerry puiled the box to the right. He finds it difficult {o do so because there is a
force opposing the motion of the box. Draw and labei an amow in the picture
above to show the opposing force and name the force. (Tm)

He wanted to investigate if the malerial of the box affects the amount of force
needed fo move it.

{b} What are two variables that should remain the same for the investigation? (2m)

()

(¢) Jerry then applied some fubricant on the wooden plank and pulled the box again.
He realised that it was now easfer to pull the box. Why is that s07 (1}

i3
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43. The diagram below shows a set-up to represent the water cycle.

Table Lamp ige cube

T “saucer
~~gvater droplets

- ——heaker

4 salt solution

(@) Inthe set-lp above, what do the following paris represent in the water cycle?
(2m)

(i} Salt solution

(i) Tablelamp

{t) The salt solution was heated over fire for ten minutes. After a while, more
walter droplets could be observed inside the beaker, Why is this 507 (1m)

-------------------------------------------------------------------------

4

-------------------------------------------------------------------------
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Siti wanted to investigate how the amount of heat gained would affect the state of
water. She prepared'iwo: beakers, X and Y. She placed an equal number of ice
cubes in each beaker. She left the ice cubes in Beaker X to melt at room
temperature and Beaker Y on a stove uniil it bolled after 20 minules. She
continued to heat the water until there was no more water left at the 30" minute.

Beaker X

until water

BeakerY _ _
The graph below shows the temperature of the contents in Beaker X over
fime,

160

i3
[REEE

D

50 A

=40 20 3b ' Time; {mins)

Tempearature (°C)

Beaker X

(@ Inthe graph above, draw the line to show the temperature change of the
water it Beaker Y ovey 30 minutes. (1m)

(b} Based on the graph for Beaker X, what was the room temperature?
Give a reason for your answer. (2m)

Lt et s wens

End of Paper

15
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Q1 Q2 Q3 Q4 Qs Q6 Q7 Q8 Qs Q10
3 4 4 2 2 2 2 4 2 2
Qi1 Q12 Q13 Q14 Q15 Q16 Q17 Qis8 Q19 Q20
2 4 4 4 2 4 4 1 2 3
Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28 Q29 Q30
3 3 3 2 1 1 z 4 4 4

31)a)Plane A: explosive action

b)A: pod-like

32)a)fertilization.

b)it is the male sex cell which contains genetic information and it has

to fertilise with the egg cell.

B: fibrous husk

Plant B: by water

c)It uses its fall to propel itself forward to meet the egg cell.







